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Que.l Fill in the blanks.
(ati=...

(8 0 (b 1 () a {d) None

(2) 1f a and b are elements of Boolean algebra B, then a < b implies

(a) ab=0 (b) ab >0 (c) aa =0
(3) aa+b) = i
@ b (b a (9 (d)

(4) Tnitial approximation of root of an equation by
approximation by ...

a+tb a.b

...............

Tteration method can be used for further

(a) Aitken’s A% process (b) Bisection method (c) False position method (d) None

(5) Initial approximation of 73 —  — 2 = 0 can be chosen from

@ 01 O 1,0 © LA @ 2]
(6) L[1] = ceorerrerne

SO RCEERCON
(7) Licoshat] = wovvvviienns

W o O g © s @) gy
(8) Lisinat] = covrrriien

a 1 1 a

(2) 5 —a? (®) 52 - q? © s? +a? @) % +.a?
() L Lgiag] e

(a) sinhat (b) _1& sinhat (c) osinhat (d) sinat

(10) L‘ltl—z} S
@ 1 b2 @t @7

Que.2 Answer the following ( Any Ten )

(1) Define : Boolean Algebras, and their Properties .

(2) For every element o and b in Boolean algebra B, provea-a=2a.

(3) For every element @ and b in Boolean algebra B , prove a{a+b) =a .

(4) Discuss Newton Raphson Method .
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(5) Find the real root of the equation 2z = cos z + 3,correct up to ¥ decimal places by using Aitken’s A?
(6) Ech)i(;lessﬁgebrajc and Transcendental Equation with example .

(7) Evaluate L{e) .

(8) Find Laplace transform of {cosat .

(9) Find Laplace transform of sinat .

2
(10) Find the inverse Laplace transform of f-m;g;-l_—él .
5+2
11) Find the i | fi e
{11) Find the inverse Laplace transform of PR
{5s -~ 3)

(12) Find the inverse Laplace transform of 3
Que.3 (a) In every Boolean algebra B , Prove that.(ab) =o' +8 , V a,be B .
(b) In every Boolean algebra B, Prove that a+{b+¢) = (a+b)+¢c,V a,b,c€B.

(c) Find the Boolean function of switching circuit given below and simplify it .

XL X _“»
—Y — 3

“ii e

OR

Qué.?; (d) Prove that in Boolean algebra , every triple of elements o, b, ¢ satisfies the identity
ab+bct+ea=(atd)(b+c)cta).

(e) Prove that the element o/ associated with element o in a Boolean algebra is unique .

{f) Find the Boolean function of switching eircuit given below and simplify it .

X—Y — L —Y
x — Yy . X
! !




o !
Que.4 (a) Find cube root of 18 correct up to 3 decimal places , by using Bisection Method.

(b) Find the real root of the equation f (:c) =43 — 4z ~9 =0, correct up to 3 decimal places by
using False Position Method.

OR

Que.d (c) Find the real toot of the equation 1 + &% = 23, correct up to 3 decimal places by using Iteration
Method.

{d) Find the real root of the equation 2z = cos 243, correct up to 3 decimal places by using Aitken's
A? Process.

Que.5 (a) Find Laplace transform of sin 2tsin 3t .

(b) If L{f(t}} = f(s) then prove that L{t" f{t}} = (—1)"%[?(3)] , wheren =10,1,2, ...

:
(¢) Evaluate L{f e st }
D

OR
Que.5 (d) Find Laplace transform of #2sin af .

(e) Find Laplace transform of e *sin 3¢ .

t — cos bt
(f) Find Laplace transform of Lpd T own

9s® —6Bs -+ 5
—6s2+11s -6

. | S
(b} Apply Convolution Theorem to evaluate L ( 2y az)g) .

Que.6 (a) Find the inverse Laplace transform of 3

OR

1
s{s+1){s+2)
25+5

+4s+13"

Que.6 (c) Find the inverse Laplace transform of

(d) Find the inverse Laplace transform of , by using shifting Theorem .
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